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3.1 IRARTLOERELE
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©(t) = ax(t) + bu(t), x(0)= xo
y(t) = cx(t) + du(t)

FANRE ut)=0

MEAEA 2(0) = e =z
r(t) = e

y(t) = ce™xg

(3.1)



(t) = ax(t) + bu(t) (3.13)
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©(t) = ae™z(t) + e 3(t)

x(t) =€
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az(t) + bu(t) = ae®z(t) + e** 2 (1)
e 2 (1)
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y(t) = c/ot e bu(T)dr + du(t)

EEDORELE (FAALE+TRELE)
t

r(t) = e +/ e hu(r)dr
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y(t) = ce® g + c/ e bu(T)dr + du(t)
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3 #RML R T LDEREISE
3.2 n AT LODEHIGE
&(t) = Ax(t) + Bu(t), z(0) = xg
y(t) = Cx(t) + Du(t)
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FANIGE u(t)=0
z(t) = e (3.32)
y(t) = Ceay
TTSRAEHICELERITIIDKRO
©(t) = Az(t)

= sz(s) — ro = Ax(s)
= x(s) = (sI — A) 'z

= z(t) =L z(s)] =L [(s] — A)~"] =g
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[ 513.4 1(1)
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[ fERE 3.2(1) ]

W AT L
t(t) = Ax(t) + Bu(t), z(0) = xg
y(t) = Cx(t) + Du(t)
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[ MATLABSEZE ]
[{513.4]

ex3 4.mdl
ex3 4 parameter.m

Al=1[01;-10-11];
A2=101;-10-2];
A3=1[01;-100];
B =10; 1];
C=[10];

D =0;

x0=[1; 0];
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Al=[01;-10-11];
A2=1[01;-10-2];
A3=[01;-100];
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y = Cx+Du
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[ MATLABEE ]
3.4.1 BB PR

[ Scilab/E# ]
clear
s=poly(0,'s");
numQl11 =s+11;
numQ12 = 1;
numQ21 =-10;
numQ?22 =s;
denQ1 = s+10;
denQ2 = s+1;
k11 1=residu(hnumQ11,denQ1,denQ2)
k11 2 =residu(humQ11,denQ2,denQ1)
k12 1 =residu(numQ12,denQ1,denQ?2)
k12 2 =residu(numQ12,denQ2,denQ1)
k21 1 =residu(numQ21,denQ1,denQ?2)
k21 2 =residu(numQ21,denQ2,denQ1)
k22 1 =residu(numQ22,denQ1,denQ?2)
k22 2 =residu(numQ22,denQ2,denQ1)
K1=T[kll 1kl12 1;k21 1k22 1]
K2 =T[kll 2kl2 2;k21 2k22 2]
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